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(a) Candidates are allowed 10 minutes to

fillup the basic 'information about
themselves in the OMR answer sheet such
as Name. Roll l\lo.-etc.

(b) After this. question booklet will be given
to the candidates they are required to do
the following: .
(i) Examine the booklet and to see that

all paper seals at the edge of the
booklet are intact. ~accept the'
questi.on~~t ifstiactr seals are
n9t'i~,.,' . "" ._'~._-'<'-', ;.-:.'"·_~:'C "\:.

• 1 (ii) Tally tile number of pages alongwith
no. of questions printed on cover of
the booklet.

(iii) Check that queStion booklet contains
the questions of aU relevant subjects!
topics as required and stated in the
Note and no repetition or omission
.of questions is evident.

In case of any discrepancy
IJJ~seget the booklet~hanged.
This should be done within 5 minutes
of receiving the question booklet
after which neither the question
booklet will be replaced nor will
extra time be given. "
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(iv) 1J~OJ-~ t ~ t i3"1:ftfo1J~OJ-
~ qrr g:j'l'J'iqj -w:Rr ifflt -'·!1W if

~qf{~ B1ackball~point~~
~ 7ffi;rT coT1lt I

(iv) After examining the question booklet
please enter the Serial No, of the
question booklet at the appropriate
place in the answer sheet and the
corresponding circles be darkened
with Black ball-point pen. (rr) m~1Jrt'q'irl t 15 fl:r;:g qft ~ i31Clfu iI'

(c) Candidates are not permitted .to mark ire\" ~ m <tr~ ';:ftTt I~.qr \3""'er\
answers in the Answer Sheet in these ~ m t ~ i'I ti'! qrr ~ dl'rr f1<m
.15 minutes. TWO Hours more will be ~ I
given for marking all the answers. .

. ...•• . 2 (<6) <tT ~ i!m-~W t ~ 1 t ~ i3IT~ ft"ffi
2 (a) On page 1 of Answer Sheet in upper half·..., ~. -A. -A.
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darken with Black ball-point pen the circle ~~. \3l&f\ qffi 0~ coTBlack Ball-
Obearing same letter. Point ~ ~ ~ qm;rrm 1lt I

I
I

i
~

(b) On page 2 of Answer Sheet fill inyour
Roll No.. etc. by writing in the 0 and
below it by darkening corresponding O.

(c) On page 2 of Answer Sheet only the
answers to questions are to be marked. The
instructions for this are available on the
back cover page of this question booklet.

(d) All entries to be made by Black ball-point
pen.

3 Optical Mark Reader (OMR) machine 3
prepares the result by reading the entries made
in the circles 0with the Black ball-point pen
on page 1 and 2 of the Answer Sheet, hence
the candidate must be extremely careful in
marking these entries and must not commit
errors.

('{Sl) 'i3"fft-1IlR: t ~ 2 'IT ~ -;f.. ~ 0
~T~ iT' fu~'T{ci ~~fua 0 7J'T~ <6T
Black ball-point ~ ~ qm;rrq;i' I

(71') ire\"-:1T\Gt~· 2 'IT 1J~-.nt i!m ~
m~I·~ ~~'iI' ~~T ~ 1JlIOJ~fufqrrt
1fm~~tl

('EJ) ~1ft SIf4ft<::<lf Black ball-point ~ ~ ft.o<1
~~I

~ ~ frn (OMR) l1:1TRi3"m-:!1w <tr
Black Ball-Point q;, ~ -lit ~ 0<tr1J~<IT
coT~q)\mN~~t, \3lO:m~
coTm ~ '\iITffi' t f<fi~ i!m-:1W t ~ 1 'CT

2 'IT Slf4ft<::.li qft' ~ ~ '{tT-'{tT m'CTm;fi
~~~'8fr"fqrt:1

4 Please do not write anything extra except 4 ire\"-~f\G 'IT f;rmfTIr ~ 1:f'( mtT ~ ~<if
what is asked for. ~ t ~. ~ "f ~ I

5 USE OF ANY CALCULATOR. LOG
TABLES OR ANY OTHER ELECTRONIC 5 ftfrnT. q)- v<nT'\ ~ ~m. mrr ~ <IT i;Ff
GADGETS. MOBILE PHONES IS ~~Gf{If.141i3Q41(oiY,~ 'Iil"f i3lTfu qrr 1J<irrT

PROHIBITED. ~ ~ I

(, Rough work should be done on the blank pages 6
providedaftereach section or subject. Extra
paper will not.be supplied.

(For lnstructions regarding marking the
answers please see the hack covet page of this

Que stion Booklet).

13IPOMC_ AI 2

\Qi qrr<f ~ 1J~"f-~t R ~T~~.
'IWT <IT~ t ~~.~ ~f;rmfter wm
'ITml~tg~~OJtY~~TrI

(~Jffiim m t~ ~ '!TH ~ t rfnJ .
~. itvr rrr W{ 'If'([ f.ft~ffqfr. rn)

[Contd ...



/
'<;

13/POMC I1III nilmil~llllllll~IIIIIII~II
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MaximumMarks :100

~.qr100 11~~ q;) ~ mCfiT~ : 2.00 ~ .
Time for marking all 100 Questions: 2.00-Hours

1 " W 11~., lBT 1)',~ 1 0'0 11~" ~ 1 -e- 100 ~ ~ ~ ~ 11~" ~
\W.r;cnr ~ '~11~" ~ ~ t ~ ::tiulI('¥1Cb'ilJiliCb1-.m= ~ "

2 11~;rgffitCbI t- ~ CfeTI 11~~ -tr mr CfiTilwwr ~ l[ISO ~'~ ~ ~\31T
-e- Cfr\ ~ 'm~ tr 11~" gfktCbI 1)' ~1fr~ ~ / trrT ~ ~ ~ ~
<rm ~,t- 11~., efhlRrta ~.~ 11~.,~ ~ m '1tf~ ~ 11~.,~ tr 'lff
~ ~ CflT ~ ~ (O;"q" -e- ,q;t ,

3 11~;r gft:aCbIlf fcFRft 1Jq)f'{-tr ~ ~.~ ~ iffi 11'-fq 15 'ilr1G lf qit(f1Cb(
~ l1~.,gfffiCbI ~ ~ ,

'4 11~~ lBT ~ m t- m 11~., ~Cblt- ~,~ lIT· affilffi. ~~iT q;)
UlI1t{cfCb ~ ~. ~ ~~ -e-- '1fM1" qft, .g.~-;fit \fffi". fr 11i aU.~.am.
\fffi" 'rile tIT mct'f.lloft'!.441.~ ~ ~ tr ~ ~ "

5 ~ m 11Cfm'CfiTCb(f1~H1l20r, "f)q I~('if"tfIT;:r ~.~ m 1Jq)f'{t- ~ ~m
IjqCb(UI ~'Wrr .~, ~ ,CfiT~ q;ro ~ ~ ,

. NOTE
1 This question booklet contains 100 questions numbered from 1 to 100 and

each question carry 01 'mark. All questions are compulsory. There is no
negative marking.

2 Tally the number of pages alongwith no. of questions printed on co~er
page of the booklet..Also check that question booklet contains the questions
of a11relevant subjects/topics, as required and stated above and no repetition
or omission of questions is evident. ,

3 If any discrepancy i.~found in the Question booklet the same can be
replaced with another correct question booklet within, first 15 minutes.

4 Before answering the 'questions please read carefullythe instructions printed
on the back cover page of the question booklet and strictlyfollow them.
Indicate your answers by blacking bubbles' carefully only on theO.M.R.
Answer Sheet provided.

5 Use of any type of calculator, mobilephone or any other electronic equipment
and log table etc. is strictly prohibited.
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a b aa+b
t If h c ba+c == 0, then a,b,c are 10

aa+b bcu+c 0

(A) A P. (B) G P.
(C) H. P. (D) None of these

a b aa+b
1:lfc:: h' c lxx+c == 0, err a,b,c ~

aa-v b ba+c 0

(A) "B. ~. (B) ~. .sr.
.'

(C) fi. ~. (D) ~-«~~

2 If A2 - A + T = 0, then inverse of the matrix A IS :

(A) I-A (B) A-I
(C) A (D) A+I

1:lfc:: ., err ~ Aqrr ~.~A~ -A+I =0,

(A) I-A' (B) A-I
(C) A (D) A+!

3 A tangent to the circle x2 + y2 = a2 meets the axis at points A and B.

The locus of the mid point of the line AB is :

1 1 1 1 1 4
(A) -.,+-.,=-., (B) -+-=-

x~ y~ a~ x2 y2 a2

1 1 .., . 1 1 a'J.
(C) -.,+-.,=4a~ (D) -. +-=-x~ y~ x2 y2 4

~ x2 +y2 = a2 -qr ~~f 1m -&m q;) ~ A q B -qr ~ ~ I

t&T AB t- ll~. ~ qrr ~ -qq ~ :

(A) . {B)

1 1 2
(C) -+-=4a
, x2 y2 .' (D)
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4 The angle between the tangents from the origin to the circle

(x - 7i + (y + 1)2 = 25 is :

1t 1t

6.(A) 3 (B)

(C)
1t

2.
1t

(D) 8

~ ~ -« ~ (X-7)2+(;+1)2=25 11{ ~ TIt ~~f,ml3IT ~ ll~
.q;)ur ~ :

1t
(A) 3 (B)

1t

6

(C)
1t

2
1t

(D) 8

5 The number of common tangents to the circles x2 +y2 = 4 and
') ') ,

x~ + y~ -6x-8y-24 = 0 is :

(A) 0

(C) 3

(B) 1

(D) 4,

~ x2 + y2 = 4 'am x2+ y2 - 6x - 8Y - 24 =0 rt'r I3lOftlPtIl2O, ~~f :nmi3IT
rt'rtt&:rr~
(A) 0

(C) 3

(B) 1

(P) 4

6 If the area of the circle 4x2+4y2_8x+16y+k=0 IS 91t, thert-k

equal to :

(A) -16

(C) 4.

(B) 16

(D) -4

(A) -16

(C) 4

13/POMC_AJ

(B) 16

(D) -4
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7 .Equation of a common tangent to the circle x2 +.y2 = 2 and the parabola

y2 = 8x is :

(A) x+y-2.=0

(C) x - y - 2 = O·

(B) x+y+2=0

(D) None of these

~ x2+ y2=2 om q(CI('tIlI ·y2 =8x.~·~ ~~T tm cnr
('I41Cb(UI % :
(A) x+y-2=0

(C) x-y-2=0

(B) x+ y+2=0

(D) ~ -B" ~ -.,tT

8 The coordinates of the focus of the parabola y2 - x- 2y+ 2 = 0 is

(A) (~,o) (B) (1,2)

(C) (~, 1) (D). (:,1)
2 cCr m t ~~1fq; ~q (CI('tIti Y -x-2y+2=0

(A) (: ,0) (B) (1,2)

(C) (~, 1) (0) (:,1)

9 Equation of the tangent line to the parabola x2 = 8Y which is perpendicular

to the line X= 2y-1, IS :

(A) x+2y+8=0

(C) x+y+8=0

(B) 2x+ y+8 = 0

(0) None of these

q(CI('tIti x2 = 8y 1:[(" ~~t ~ iitT ~ x = 2y-l 1:[(" ~ t cnr
('I41Cb(UI % :
(A) x+2y+8=0

(C) x+y;+8=0

(B) 2x+ y+8 = 0

(0) ~:-B" ~ -.,tT

6 [Contd ...



10 • 0 oJ o. 2 0 •

The length of the focal chord of the parabola y - 8x + 4Y +12 = 0 at point
r '£',

(3, 2) is :

(A) 4 (B) 8

(C) 16 (D) 32

~ (3, 2) 1:R q(q{r!('1 y2 -8x+4y+ 12 = 0 ctr~ctr~~

(A) 4 (B) 8

(C) 16 (D) -32

11 The length of the latus rectum of the parabola x2 - 4x -:-8Y +12 = 0 IS :

(A) 4 (B) 6

(C) 8 (D) 10

x2-4x-8y+ 12 = 0
,

q {qiiltl ~ '1lfttW~ ctr~~

(A) 4 (B) 6

(C) 8 (D) 10

12 If the line x + y = A touches the ellipse 9x2 +16y2 = 144, then the value

of A, is :

(A) ±9 (B). ± 12

(C) ± 5 . (D) ±8

~ ~ x+ y =A, ~ 9x2 +16y2 = 144 q;) ~~T qffifr ~, tit A,
q)J1Wf~

(A) ±9 (B) ± 12

(C) ± 5 ~ (D) ± 8

l3IPOMC A] 7 [Cqntd ...



13 The eccentricity of the conic x2 +2y2 - 2x + 3Y + 2 = 0 IS

(A) 0 (B)
1

2

1
(C) J2 (D) Ji

(A) 0 (B)
1
2

1
(C) / J2 (D) Ji

14 The conic represented by the equations x = 2(cos t + s'in t) ;
y = 5(cost-sint) IS :

(A) a circle

(C) an, ellipse

(B) a parabola

(D) a hyperbola

Btfl4){OO' x= 2( cost +sint); y = 5(cost -sin t) 'IDU mra ~nt'q)q ~

(Ar C[tf

(C) ~

(B) q(qi;ijq

(D) 0lfuq {qi;ijq

15 If e. and e' are the eccentricities of 'the hyperbola and its conjugate

1 1
hyperbola respectively; then the value of '+-2 is equal to :e: e'

(A) (B) '2

(C) 0 (D) 3

c:rfu e otTT e' ~~T: 0lRtq<qi;ijqotTT ~ ~ 0lRtq<Cli;ijq cST i3~~d/l:t

1 1'tm -+- '4>T 1lR t :
e2 e,2

(A)' 1

(C) , 0

, 13IPOMC _AI

(B) 2

(D) 3,
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16 Equation of the~llipse passing through the point (2,1) with eccentricity

1 .
2' IS :

''} 2(A) 3x~+5y =17

(C) 3x2 +4y2 = 16

(B) 5x2~3y2 =17

(D) 4x2 +3.i = 16

(A) 3x2 + 5y2 = 17

(C) 3x2+4y2=16

(B) . 5x2 ~ 3y2 = 17

(D) 4x2 +3y2 = 16 '

17 Equations to the latus rectums of the ellipse

9x2+4y2_18x-8y-23=O are:

(A) y=±J5 (B) y=I±J5

(C) x=±JS (D) x=I± ..J5

(A) y=±J5

(C) x=±J5

(B) y=l±J5

(D) x=l±J5

,
18 If the major axis of an ellipse is thrice of its minor axis, then its

eccentricity is :

1 1
(A) - (B) Jj3

1 2J2
(C) J2 (D)

3

1 1
(A) - (B) Jj3

1 2J2(C) J2 .(D)
3

13/POMC_A] 9 '(Contd,,~



19 The solution of the system of simultaneous equations given by

x+ y.,...8 _ x+2y-14 _3x+y-12
- -

2 3 11

(A) x == 2, Y == 8

(C) x = 2, Y == 6

IS :

(B) x == 4, Y = 4

(D) x==4,y=6

x+ y-8 x+ 2y-14 _ 3x+ y-12 '=r ?;;r ~

~ ~41q)<ol ~ 2 = 3 11 '1'11 ~\'I Q

(A) x == 2, Y == 8

(C) x = 2,Y = 6

(B) x==4,y=4

(D) x = 4,y=6

20 Which of the following system of equations has infinitely many
solutions ?

(A) 5x~4y==20; 7.5x-6y=30

(B) 2x-3y=15; 3x-4.5y=7.5

(C) x+5y-8==0; 3x+15y-9=O
L,

(D) 2x-5y=3; 6x-15y=16

~ ~4'lq)<OI ~ -q -« ~. ~ $" ~qf{~d· m;r ~ ?

(A) 5x-4y==20; 7.5x-6y=30

(B) 2x-3y=15; 3x-4.5y=7.5

. (C) x + 5Y - 8 = 0; 3x + 15Y - 9 = 0

(D) 2x-5y==3; 6x..;..15y=16

21 For what value of p, will the system of simultaneous equations

3x+ y=l; (2p-l)x+(p-l)y=(2p+l), has no solution?

(A) p=2

(C) p=-2

(B) P *2

(D) p*-2

p $" ~ 1lR $" ~, ~ ~4'lCf)<OI f.rcrirq .
3x+y='1; (2p-I)x+(p-l)Y=(2p+l) CfiT ~ Q\Tf 1tf,~ ?

(A) P = 2 (B) P * 2

(C) p=-2 (D) p"#-2

l3IPOMC _A] . 10 [Contd ...



22 The coefficient of x4 in the expansion 6r {~- :2)10 is:

405
(A)

256·
504

(B) 259

450
(C)

256 (D) None of these

405
(A) 256

504
(B) 259

450
(C) 256

23 2 2·5 2·5·8 2·5·8·11 .
1+-+-+ + . + is equal to :

4 4·8 4·8·12 4·8·12·16

(A) ¥4 (B) }jl6

. .

1+~+ 2·5 + 2·5·8 + 2·5·8·11 + ~.• ' f~
4 4·84·8·12 4·8·12·16 . (

(A) ¥4 (B) Jjl6

_2/
(C) 4 /3 (D) 4.%

13!POMC AI 11 [Contd ...
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24 If the coefficients of four consecutive terms in the expansion of (1+ xt
al a2 a3

are al,a2,a3,a4, then al +a2 a2·+a3 a3 +a4
are 10

(A) A. P. (B) G P.

(C) H.p. (D) None of these

~ (I + x)" ~ 1Rffi" -q "iJR alliPld ~ at. a2, a3, a4 t

m al a2 a3
~,

al +a2 a2 +a3 a3 +a4

(A) ~. ~. (B) ~. ~.

(C) ~. ~. (D) ~ U~ "Itf

. 3c() - 5c] + 7c2 + .....+ (-1)" (2n + 3) cn equals to':

(A) 0 (B) 1

(C) (2n +3)211
-
1

(A) 0 (B) 1

(C) (2n +3)2"-1

13IPOMC AJ 12 [Contd ...



,

26 The coefficienrof ij-" in the expansion of

(a":hx) (a +bx)2 (a+bx)3 (a+bxYZ .
1+ + +. + .....+ + ..... IS

1! 2! . 3! n!

(A)
(a+b)'"

r!

eOhr(C)
r!

(B)
. r!

. (D) 'eo+br

(a+h(
(A) (B)

r'

(C) (D)

27 log, 2-log8 2+ log162- ....... is equal to

.,
(B) loge2+ 1(A) e~

(C) loge 2-1 (D) I-loge 2

log; 2-log8 2+ log162- ....... q)J lfA ~ '\.,

.,
(B) .. loge 2+ 1(A) e: \. ·1

(C) loge2-1 (0) l-loSe2

13
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x2 X3' .
28 If v = x--+-' - .....00, then the value of x IS :• 2 . 3

(A)
. .y2 y3
y--+-- .....

2 3

y2 y3
(B) y+-+-+ .....

2! 3!

y2 y3
(C) l+y+-+-+ .....

2! 3!

y2y3 .
l-y+---+ .....

2 3
(0)

x2 x3v=x--+-- .....oo,
- 2 3

(A)
y2 y3

y--+-- .....
2 3

y2 y3
(B) y+-+-+ .....

2! 3!

, y2 y3
(C) 1+y+--.+-+ .....

2! 3!

y2 y3 .
l-y+---+ .....

2 3
(0)

I 1 1 1
then value of eX29 If x=---+---+ IS :1'2 2·3 3·4 4·5 ..... ,

IOge(;) 4
(A) (B)

e

IOge(: ) e
(C) (D).

4

~
1 1 . 1 1 m eX qrr lWf f :x=----+---+ .....

1·2 2·3 3·4 4·5

IOg~'(;) 4
(A) (B)

e

IOge(:) e
(C)

"
(0)

4

13IPOMC~AI 14 [Contd ...



(A)
5 2 9 3 17 43x--x +-x --x + .
2 3 4

12·2 22·3 32.430 --+--+ --,..--+.....is equal toII 2! 3!
(A) 2e (B) 3e

(C) 5e (D) 7e

12·2 22 " 32.4.-,
lfR~--+--+---t .....C6TI! 2! 3!

(A) 2e (B) '3e

(C), 5e (D) 7e

31 The expansion of log (1+3x+2X2) IS

(D)

(B)
5 2 9 3 1743x--.--x+-x --x + .
4 .3 7

(C) 5 2. 9 3 17 44x--x+-X --x + .
4 3 4

CD)
5 2 9 3 17 4-3x--x --x --x -2 3 4' .: .

log (I;+- 3x+ 2X2) C6T "!roT{ ~

(A)
5 2 9 3 17 43x--x +-x --x + .
2 3 4

(B)
5 2 9 3 17 43x--x +-X --x + .
4 3' 7

(C) 5 2 9' 3 17 44x--x +-x --x + .
4 3 4

5 2 9 3 17 4-3x--x --x --x
2 3, 4

15 [Contd ...
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32
246

The value of -+-+-+ IS
3! 5! 7!

1
(A) e (B) e

(C) 2e

2 4 6-+-+-+ q)T llFT ~
3! 5! 7!

(A) e
1

(B)--
e

(C) 2e

a b e

33 .If a:-l=b :-1=c and a1: h2 e2 = 0, then the correct statement is :

b+e e+a a+b

(A) a+h+c=O (B) ab+bc+ca=G

(C) a2 +h2 +e2 == ah +be +ca (D) abc=O

a b e

~ a:-l=h:-l=c o~ a2~ b2 e2 =0, ~ -q)tFf ~

b+c . e+a a+b

(A)- a+b+c=Ii (B) ab+bc+ca = 0

(D) abc =0



1t

34
f ,XStn x2 dx , equals to :
() 1+cos x

(A)
x

0 (B)
4

x2 x2
(C)

4
(D)

2

1tf XStn; dx ~t
() 1+ cos x

x
(A) 0 (B) -

4

(C)
x2 x2
4

(D)
2

K
2 - I

35 f log sin x dx , equals to
0

..
X x

(A) -loge2 (B) --log 2
2 2 e

1t X
(C). -loglO 2 (D) -~loglO 2

2 2

K
2f logsinx dx ~ t
0

1t x
(A) -loge 2 (B) . ---loge 2.., 2 ..<...

1t ·x
(C) -loglO 2 (D) --10g102 -

2 2

17 (Contd ...
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36 f (""tan x + ""cot x) dx ; equals to :
()

rr rr
(A)

2
(B) J2

rr rr
(C)

2 (D) -J2
11:
4f (""tan x + .Jcot x) dx ~t
0

rr rr
(A)

2 (B) J2
rr rr

(C)
2 (D) -J2

11:

37 f xsin4 x dx ; equals' to :
()

3rr 3rr2(A) - (B) -]6 16

16rr
(D)

16rr2(C) - --3 3
11:f xsin4 xdx ~t
0

3rr 3rr2(A) - (B) -16 16
16rr ' 16rr2(C) - (D) --3 3

13fPOMC_AJ 18 [Contd ...
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38 'If Jf(t)dt ='x+ft /(/) dt , then the value of f(l} is :
o x

1
(A) 2 (B) 0

(C) . 1
1
2

(D)

x 1
~ f f (t)dt = x+f 1/(1) dt , -aT f(l) q;J 1tR t

o , x

I
(A) 2 (B) 0

(C) 1 (D)
1

2

3
39 f II-x21 dx , equals to

-2

7 14
(A) - (B)

"' 3.)

28 1
(C) - (D) -

3 3

..,
,)

fII-x21~x ~t
-2

7 14
(A) - (B) -

3 3

28 1
(C) - (D) -

3 3

~

13/POMC_A1 19 (Contd ...



40 The area of the smaller portion between the circle x2 + y2 = 9 and the

line x ~ 1 is :

(D) None of. these

1m x=l ...1ITn ¥ x2 +y2 =9 q;)q;gTTC) ~ 'qflT cnT ~ %

(A) 9sec-1(3)-J& (B) . 9cosec-1 (3)-J&

(C) sec-1 (3)- J8 (D) ~.~~ ~

41 The area of a loop of the curve ay2 = x2 (a - x) is :

a2 16a2(C)
15

(D)
15

ern; ay2 = x2 (a- x) ~~~(~)cnT~%

8a2 4a2(A) - . (B)
15 1-5

(C) (D)

20 [Contd ...
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42 The area of the common portion betweenthe curves y = Fx and

X= JY IS :

7 1
(B) 3(A)

3

5
(C) -'

3
(D) I

7
(A) 3

1
(B) 3"

(C) 5
3

(D) 1

,~"

43 The area of a loop of the curve r=asin3e IS :

2' , 2tta
(B)

na
(A)

6 8

') rca2na: CD)(C)
12 24

~ r=asin3e tw.n~cm~~

2 rca2na
(B)(A)

6 8

rca2 rca2
(C)

12
(D)

24

131POMC~] 21 [Csntd ...
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<14 The general solution of the differential equation

sec2 x tany dx+sec2 y tan x dy == 0 is :

(A). tan xsecy e c (B) tan xtany::: c

(C) tan x ==ctan(x+ y) (D) tan x ~ c tan (x - y) r

(A) tan x se~y == c (B) tan x tan y :::C .

(C) tan x = ctan(x+ y) (D) tan x = ctan(x- y)

45 The solution of the differential equation

-I
(A) yetan x = tan -1x+c (B)

-1 1 -1xetany :::_ e2 tan y + c
2

-1
(C) 2x==etan y +c (D)

-1
Y == xe- tan x + c

(B)
tan-1y 1 2tan~lyxe ==-e." +ct

-1 .
(C) 2x == etan y +c (D)

-1
Y ==xe-tan x +c



46 The integrating factor of the differential equation

dv
-" (xlogx)+y=2Iogx IS :
dx

(A) x

(C) logx (D) log (log X)

(A) x

. (C) logx (D) . log [Iog x]

47 If c" c2, cJ, c4, c5 are arbitrary constants In the general solution

y = [(Cl+C2)COS(X+C3)-:C4 eX+c5 ] of a differential equation, then the

. order of the differential equation is :

(A) 5 (B) 4

(C) 3 (D) 2

.~ ~ ~ ti41Cb(UI t ~ Y = [(Cl +C2)COS(X+C3)-C4 eX+CS] if

c),c2,c3,c4,c5 ~fu§Ch ~ t, aT ~ e41Ch(UI'"Chl .~ t

(A) 5 (B) 4

(C) 3 (D) 2

[Contd .•.23
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48 If for the differential equation ydx + y2 dy = xdy . where x ER, y > 0 and

Y(l)= 1, then y(-3) is equal to

(A) (8) 2

(C) 3 (D) 5

~ 3lClC6(Tt"1B41C6<UI ydx+ y2dy = xdy ; ~ X E R, y> 0 "Om Y(l) = 1,

m- y(-3) COT 1lR ~

(A) (8) 2

(C) 3 (D) 5

49 The solution of the differential equation : = eX
- Y (ex -eY) IS

~ dy x- v (' X v) ~3lClq;(Tt"1 B~IC6<UI dx = e - e -e- COT ~ Q

.J
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50 If the. line =+~= 2 touches the-curve (:r+(~r = 2 at a point (~, h).

then 11 is equal to

(A)

(e) 3

(B) 2'

(D) All non-zero values

~ ~ , ; + ~ = 2, em; (; r -h (~ r = 2 ~ ~ (a, b)1R m~fqmft

~, m 11 C6T l1A" t
(A)

(e) 3

(B) 2

(D) ~ 131~~ llR

51 The angle of intersection between the curves x2' = 4ay and );2 = 4ax at

ongm IS

(A) 30° (B) 45°
(e) 60° (D) 90°

(A) 30°
(e) 60°

(B) 45°
(D) 90°

52 The- maximum value of f (x ) = sin x + cos X IS-

(A)

(e) Ji

(B) 2

(D) 1+.fi

f(x}=sinx+cosx C6T I3fk1lS6 1lR t :

(A)

(e) .fi

(B) 2

(D) l+.fi



53 dy -r • 4
If dx = (X - 1)"'(x - 2) " then y is :
•
(A) Maximum at x = 1

(C) Minimum at x = 1

(B) Maximum at x = 2 .

(D) Minimum at x = 2

dy 3 4
~ dx =(x-l) (x-2) , m y t

(A) x=l "tIT ~

(C) x=l "tIT ~.

(B) x=2"tIT ~

(D) x=2"tIT ~

54 If f(x.) = log, (loge x), then the value of f'(x) at x=e IS :

(A) 0 (B) 1

(C) e
1

(D) -
e

~ f(x)=logx(logex), or x=e "tIT !'(x) q;r lfI'l ~

(A) 0 (B) 1

(C) e
1

(D) -
e

55 If 2x + 2,v == 2x+y, then
dy

equals tod.x

(A) 2Y-x (B) _2x-y

(C) 2x-y (D) _2Y-x

<W:: 2x + 2Y =2x+y, -aT dy
~ tdx

(A) 2Y-x (B) _,2x-y

(C) 2x-y (D) _2Y-x

13/POMC_AI 26 [Contd ...
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sin-I x d)l
56 If y = ~, then (1- x2 )'-' equals to :

\l1-x'" dx

(A) X+.Y

(e) 1-xy

(B) I-txy

,CD) xy-2.

·-1 .
..,.,..p". _ SIn. X . ( ) dy .'
ColI~ y- r--:;-.2' -aT l-x2.-' ~~ :

\II-x'" \ dx

(A) x+ y

(e) I-xy

(B) l+xy

'(D) xy-2

57 . /'(1) /"(1) [\11) (1)
If f(x) = x'", then the value of /(1)+--+--+ +: IS :

. I! 2! n!

(A) n (B) 211

(D) n(n+ 1)
2

(e) 211-1

. /'(1) /"(1) [(';)(1) ~ = ~.
~ f(x)=xf1 -aT /(1)+--+--+ +· 'ill ."., ti

. I! 2!· 11!

(A) n (B) 211

11(11+ 1)
(D) 2(e) 211-1

. .
58 If f(x+ y) = .f(x)f(y), T:lx,y and f(5) = 2, /i(O) = 3, then the

value of f'(~) is :

(A) 2 (B) 4

(e) 6 (D) 8

~ f(x+y)=f(x)f(y), T:lx,y om 1(5)=2, /'(0)='3, -aT f'(5) em
l1R % :
(A) 2

(e) 6

(B) 4

(D) 8 ..



59
.., 1 4 1 dy

If x = t:+, and y = t +~, then dx equals to
t~ (

(A) 2x (B) x

2(C) x (D) 1

..,1 4 1 ~dy~~
x=f~+- crt[( y=t +- 0' .••'•.•.••, Q

t2 ,4 'dx

(A) 2x•
(B) x

(D) 1

60 If JI.,- x6 + JI - y6 = a3 (x3 - y3), then : equals to :

X" JI-i . ' il-i(A) (B).., -
x2 1~x6y~ l-xD,

x'i-x6 'y' ~1_x6(C) --- '(D)2· 6 2 6Y l-y' x 1-Y .

(B)

28 [Contd ...
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61 If lim f(a+2h)-f(a-2h) ;;:1, then f'(a) equals to :
11-70 h

(A) 4
1

(B) 4

(C) 2 CD) 2

. f(a+ 2h)-f(a-2h) ,
~ 11m . ;;: I tiT f'(a) CfiT lfR %

11-70 h '

(A) 4
1

CB)
.4

(C) 2
1

CD) 2

62 If cos-l( x: - Y~ J ;;:tan-l (a), then dy equals to :
x +y dx

x Y(A)
Y

(B)
x

..,
xx~

(C) CD) y2Y

. (2 1 dy
~ cos-1 \ -Y2 ;;:tan-1(a), ciT CfiTlfR%

dxx +y

x y.
(A)

Y
(B)

x

..,
xx~

(C) (D) y2Y



. -1(" 4 3) dy
equals to :

,

63 If Y = sm ,)x- x ,then dx

3
(A)

3Jl-x2
(B)

)1-x2

"-,)

(C)
Jl-x2

(D) None of these

~ y = sin-1 (3X-4x3), ~
dy

~~dx

1 3
(A)

JJl-x2
(B) ~1-x2

-3 ,

(C)
Jl-x2

(D) ~~~'lff

64 . if x: a(Co" + log(tan ~)} y = asint, then
dy

equals to :dx

(A) cot! (B) tant

t t
(C) eot- (D) tan~

2 2

~ x:a( cost + log(tan ~)} y =asint, ~
dy

~~dx

(A) eott (B) tant
,

t t
(C) .. cot- (D) tan-

2 2

30

I
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65 If /(x) =/x/3, then /'(0) equals to :.

(A) 0 (B) .....:1

1 1(C) -- (D) -3 6

~. /(x)=lxI
3
, ID /'(0) .~ ~

. (A) 0 (B) -1

. 1 1(C) -- (D)3 6

66 If. y = x+ex, then
d2y

equals to
dx2

_ex
(A) eX (B)

l+ex

_ex _ex

(C) '(1+ ex)2 (D)
(l+eX t

.~ y=x+ex, ID d2y ~t
dx2

I

_ex
(A) eX (B)

l+ex

_ex _ex

(C)
(1+ext

(D)
(l+eX t



1
123

(A) 625 (B)
133
625

67 The probability that the product of 4 numbers is divisible by 5 or
1-0 is :

(C) 369
625 (D)

399
625

4 msm® q)l ~OI'1\f)~, 5 -m 10 -« ~ m ctT !'I1~Cf)dl t

123 133
(A) - (B) -

625 625

369 399(C) - (D)625 625

(A) -
3

1
(B) 9"

68 Two squares are selected from the squares .of a chess board. The probability
that their one side is common will be :

1
(C) 18 (D) 6

~~ it mi 1f{ qtiT .q -« ?J CfIf ~ \jfffi t ~~ qtiT ctT ~ ~

~ ~ m ctT !'I1~Cf)dl t :

1
(A)

3
1

(B) 9

(C)
18

(D)
.6
1
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69 From which of the following, the worm through?

(A) Floppies (B) Hard disks

(C) CD (D) Network

crr4 ~ -q ~ ~ fnffiTr ~ ?

(A) ~~ (B) ~ .~. ~

(C). mit~ (D) ~~

70· Macro virus can infect which of the following's applications ?

(A) Word

(C) Project

(B) Excel

(D) All the above

(A) qt (Word)

(C) ~ {Project}

(B) ~. (Excel)

(D) \3qg~ tPfr

71 Electronic components were used in first generation computers :

(A) Magnetic drum

(C) Vacuum tubes

(B) Transistor

(D) IC

(A) s~cI))~ ~_

(C) ~~ (D) ~

[Contd ...33
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72 Which of the command is used to hide the turtle in LOGO ?

(A) ST (B) CS

(C) HT (D) BYE

'"ffi1iT' if ~ em· wrR ~ ft;rQ; ~ ~ ~ .. .

(A) ST (B) CS

(C) HT (D) BYE

73 Which of the following is not a hardware ?

(A) RAM (B) Printer

(C) Key Board (D) COBOL

~ if ~ ~-m Qfg~~{ ~ ~ ?

(A) 1ll (RAM) (B) ~

(C) rtr~ (D) ~ (COBOL)

74 One Megabyte equals to

(A) 2\0 KB (B) 216 KB

(C) 28 KB (D) 108 KB

ij'II<S1I~C:. ~ i~

(A) 210 KB (B) 216 KB

(C) 28 KB (D) 108 KB
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75 ,Full form of RAM is
(A)' Read access memory
(C) Revolve around me

RAM :qrr',,~ ~ i :
(A) Read access memory

(C) Revolve 'around me

(8) Read around me
(D) Random access memory

(8) Read around me

'(D) .Random access memory

76 If the area of a square is 121 sq. m., then its perimeter is
(A) 40 m (B) 11 m

(C) 44 m, (D) 22 m
~ ~ cpt q)J ~ 121 cpt -4T. i, aT ~ T.Jftqp:r ~

(A) 40 m (B) 11.m

(C). 44 m (D) ,22 m

77 . Question mark sign takes the value in the enclosed figure

(A) ~

(C) ~

(B) ca
(D) ..g]]

(A) I2A
(C) ~

13/POMC_A]

(B) ca
(D). g]]



Fill in the blanks :

78 0,3, 8, .L, 24, -L, 48, .....

(A) 15, 30

(C) 16, 38

79 1, 8, 27, .L, 125, .....

(A) . 16

(C) 46

80 I, 1, 2, 4, 8, -L, 32, ....;.

(A) 12

(C) 16

81 2, 4, 16, .L: 65536, .....

(A) 32

(C) ]28

13/POMC_A]

(B) 15, 35

. (D) 14, 34

(B) 64

(D) 54

(B) 18

(D) 24

(B) 64

(D) 256
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82 If 0 = 4 and COVER =·63, then BASIS =

(A) 49

(C) 54

(B) 50

(0) 55

~·D == 4 am COVER = 63, or BASIS =

(A) 49

(C) 54

(B) 50

(D) 55

83 Which of the following· number is different from the others ?

(A) 12 (B) 25

(C) 37 (D) 49.

~lT~~~%
(A) 12 (B) 25

(C) 37 (D) 49

84 If doctor is related to patient, then the lawyer is related to :

(A). Customer

(C) Magistrate

(B) Accused ,

(D) Client

(A) .~

(C) ~~~T

(B) ~

(D) ~qf4q;(f1

85 Missing number in the following series is

I, 3, 7, 15, 31, ?, 127, ... ..

(A) 62 (B) 63

(C) 70 (D) 72

~·MlT~~t
1, 3, 7, 15, 31, 7, 127, .....

(A) 62 (B) 63

(C) 70 (D) 72

13/POMC_A] 37 [Contd ...
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(A) (-1,1)

(C) (O~])

~~ ~ cCr "@:rr ~

(A) (-1,1)

(C) (0,1)

(B) (~1,0)

(D) (-3,+3)

86 The empirical relation between Mean, Median and Mode is :

(A), Mode = 3 Mean - 4 Median

(B) Mode = 3 Median - 2 Mean

(C) Median = 3 Mean :- 2 Mode

(D) Median = 2 Mean - 3 Mode

l1T'Clf, ~ Cfm ~ -q i3lTl~ ~~t
(A) ~ = 3 irr'Ul -4 ~

(B) ~ = 3 ~ -2 l1T'Ul

(C) ~ = 3 l1T~ - 2 ~ .

(D) ~ = 2 l1T~ - 3 ~

87 The limits of correlation coefficient are :.

(B) (-1,0)

(D) (-3,+3).

88 The limits of rank correlation are :

(A) (0,1) (B) (-1,0)

(C) (1,2) . (D) (-1,1)

~ ~~ ctT "@:rr ~

(A) (0, 1) (B) (-1,0)

(C) (1,2) (D) (-1,1)

13/POMC_AI 38 [Contd ...
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89 The variance of the data 2, 4,6, ....•.., 21'1 is : .

fA) (B)

(C) (D)

~, 2, 4, 6, , 211 q)f ~. ~

(A) (B)

(C)
4(112 - 2)

12
(D)

90 If 10 is the mean of 7'observations and 5 is mean of another 3 observations,
then the combined mean of 10 observations is

(A) 15 (B) 10

(C) .8.5 (D) 7.5

~ 7 -g~ q)f lll'al 10 ~ crml ~ 3 -g~ q)f lfT'al 5 ~, -aT ~

10 -g~ q)f' "IT'al ~

(A) IS· (B) 10

(C) 8,5 (D) 7.5
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·,
9\ Two dice are thrown simultaneously, the probability of getting the total

of the numbers less than 3 is

2 1
(A) - (B) -36 36

1 3(C) 6 (D) 36

~ 'lffit -qco m~ ~ '"!IT ~ ~ i3tcID, q)[ mrr 3 ~ Cf)l{ m ctr
!OI1~Cf)dl t ':

2 1
(A) 36 (B) 36

3(C) 6 (D) 36

92 There are 5 black and four red balls in a box and one ball is picked at
random, The probability of its being red ,is :

4 5
(A) - (B) -

5 4

5 4
(C) - (D) -

9 9

-qco ~ if 5 Cfffi1ft q 4 ~ ~ t ~ -« -qco ~ t:l1~fu:§Cf) ~ -d ACf)It'i~

7J{ t w "~ t ~ m ~ !OI1~i6dl t :

4 5
(A)

5
(B)

4

5 4(C) - (D)
9 9
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(93 The probability of having 53 Mondays in a leap year is :

1
(A) 7

53
(B) 366

2
(C) 7

52
366

. (D)

(A) -
7

, 53
(B) 366

,2
(C) 7

52
(D) 366

94 The point of intersection of the regression lines is :

(A) (x, y) (B) (x, 0)

(C) (0, y) (D) (0, -0)

(A). (x-, y) (B) (x-, 0)

(C) (0, y)

13/POMC_AJ

(D) (0, 0)
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95 If the correlation coefficient between (x, y) is zero.. then the correlation

coefficient between x2 and y2. is

(A)

(C) 2

(B) 0

(D) None of these

~ (x,y) t ~ B ~~ ~ 0 m, m x2 q y2 t ~ ~~
~ mrrr

(A) 1

(C) 2

(B) 0

(D) ~ -« ~.~

96 For which of the following distribution Mean = Mode = Median
holds good ?

(A) Poisson (B) 'Binomial

(C) Normal (D) None of these

(A) ~ (Poisson) (B) ~ (Binomial)

(C) IHil'il;:(;j (Normal)

97 The variance for the Poisson distribution is :

(A) m (B) 1+m2

m+m2 1
(C) (D)

m

~~.~~~~

(A) m (B) 1+m2

') 1
(C) m.+m- (D)

m

13fPOMC~A] 42 [Contd ...

,.



(A) n (B) np

(D) n2p

98 The mean -of the Binomial distribution. is

(C) n(n -1)+ np

~ m~ ~ llTe:r t
(A) n (B), np

(C) n(n -1)+ np .

99 If in a Poisson distribution. 2P (x = 1)= P (x == 2), then variance is
equal to :

(A) 0

(C) 4

(B) -1

(D) 2
,

~ ~ 1ffi:R:A m -q 2P(x=I)=P(x=2), or ~ ~ ~
(A) 0

(C) 4

(B) ~1

(D) 2

100 A team of eight couples participates in a lucky draw in which 4 persons
are related to prizes. The probability of getting prize by atleast one couple .
in these 4 persons is :

11
(A) 39

12
(B) 39

14
(C) 39

15
(D) 39

~ ~ ,~ .~ ~ 8 ~ ctT. ~ tfq 'qfJf ~ ~ I ~ -e- "'f.IT\ ~.,. ,
~ -e- ¥..~ I ~ "'f.IT\ ~ -q -e- cfi1:r -e- ~ ~ ~ ~ .~ ftR;A-
ctT ~lftI(f)t11~ • ~ .

11 12
(A)

39
(B)

39

14 15
(C) - (D) -39 39
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INSTRUCTIONS REGARDING METHOD
OF ANSWERING QUESTIONS

~~-;fi~ ~ ~ ~..QT
f.R~1

(Please use Black lJall-point Pen) (~ Black ball-point lRCIiT·rRft7r q;f)

....::::::: USE ~LACKBAli POINTPEN ONLY)

J . Method of Marking Answers :
To answer a question, please darken
one- bubble out of the given four, in

, the OMR Answer Sheet against that
question.

2 Valuation Procedure :
There are four alternative answers to 'a
question, only one of them is correct ..
One mark will be awarded for each .
correct answer, if more than One bubble
are darkened for a question, it will be
presumed that the candidate does not
know the correct answer hence no mark
shall be awarded.

3 Cancellation or Change in Answer : ,~

4

,It will not be possible to change the
marked bubble with black ball-point
pen: therefore, correct answer should
be carefully chosen before marking it
on OMR Answer Sheet.

Hooding over of OMRAnfwer Sbeet 4
to Invigilator :
(i) Please ensure that all entries in the

answer sheet are filled up properly
i.e. Name, Roll No., Signatures,
Question Booklet No. etc.

(ii} CANDIDATESARE PER.MlTFED
TO CARRY AWAY THE
QUESTION BOOKLET WITH
THEM AfTER iHE
EXAMINATION.

5 Care in.·HandliniftheOMR Answer 5
S~eet :
While using answer sheet adequate care
should be=taken 110t to -tear or spoil
due to folds or wrinkles and the
impression does 110t come behind the
Answer Sheet.

...::: USE BlACK BALl POINTPEN ONLY)
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